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the line to compute the slope.
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Summary/Terminology

Overall rate:
. Total Dist
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Ex Supp. 4
Lesson 2 in reading graphs Exb Supp /2

- If given a total distance graph and iy i
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Supplement 3-4 (Reference Lines) We will answer the five main types of

Temp (in °F) vs. time (in min) for a rate questions using this graph to
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Warm up questions:

1. Find the overall rate of change

after 9 minuteh
W

« DRAW LNg They Gram AT £=0 and =9
(o, \80)

« ESAinprz e POINTS On LINE (2 200"
TR

o Compurr <Sobe (RATE)

T T T VO ™
L‘GPE o P——————— — ’ 2'
OI“- = 0 A R Min
I

Note: Overall Rate means starting
from wherever the graph starts (not
necessarily the origin)
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How fast does the temp rise, on
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How could we answer these?

3. Find a time at which overallrate of
change of temp is 25 deg per min.
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Find a two-minute interval during
which the incremental rate of
change is 10 deg/min.
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5. Find a three-minute interval
during which the temp rises by
150 deg.
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